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E =0-0.2 GeV

X I ndf 1195/7
Fre e Prob 9.683e-23
E Constant 3912 + 32.9
4000 = Mean -0.03827 + 0.00262
E Sigma 0.3274 + 0.0034
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E = 0.6-0.8 GeV
X2 I ndf 29.46/7
700 T T TTTTT Prob 0.0001194
[ Constant 632.8 + 13.7
F Mean 0.06741 0.00540
600 [ Sigma 0.277 + 0.006
500 3
400 B
300f 3
200 3
100f 3

E =0.2-0.4 GeV

X° /' ndf 137.1/7
FroT [T T [TTT[TTTTT] Prob 2.1e-26
[ Constant 2974 + 29.6
3000~ Mean 0.03596 + 0.00256
3 Sigma 0.284 + 0.00:
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2000 3
1500 3
1000F 3
500 3
N T P I .
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E =0.8-1.0 GeV
X2 I ndf 25.54/7
AQQP T[T T Prob 0.0006087
[ Constant 353.3 + 10.7
[ Mean 0.05315 + 0.00642
350 :— Sigma 0.2551+ 0.0072
300fF =
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200F =
150 E
100f =
50 =
b T P
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E = 0.4-0.6 GeV

X° /' ndf 83.73/7
Fror[ T[T TI[TTT[TT] Prob 2.3%-15
1400 L Constant 1325 + 20.0
- Mean 0.06713 + 0.00384
N Sigma 0.277 + 0.004
1200 F ]
1000 | .
soo | .
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E=1.0-1.5GeV
X2 I naf 33.63/7
[T Prob 2.016e-05
E Constant 339.6+105
350 Mean 0.0493 + 0.0066
E Sigma___ 0.2585 + 0.0076
300 E
250 3
200 3
150 F E
100 E
s0f E
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Run 10913: Neutral Showers in BCAL

@0-4_ LS L L L L LN L
5 65+ 1
= sl At = O PS 1 o5716) s -
5 B i
o _ ]
7p] B _
cqéo.s— —
CIEJ B i
= [ i | .
0.25_— * I __

o_ A I B R R RN R B

0.2 0.4 0.6 0.8 1 | 1.2 | 1.4
Shower Energy, E (GeV)



